West Bengal State Warehousing Corporation

(A Government Undertaking) KHADYASHREE BHAVAN (1ST. Floor) 11A, MIRZA GHALIB STREET, KOLKATA-700087.

e- mail: ce-swc@wb.gov.in/se.wbswc@gmail.com

Memo No. 114/Engg/SWC/2020-2021

Dated: 26.07.2021

No. 32(2nd call) of 2020-21 of SE,WBSWC

Sealed Tenders in printed Tender Forms as specified below are invited as per particulars given below and will be received by the Executive Engineer, WBSWC, on the date and up to the time specified therein and shall be opened soon thereafter in presence of such tenderers who may choose to be present.

Name of the work : As per enclosed list.

2. Name & address of the Officer concerned : As per enclosed list.

3. Contractors eligible to submit tender : As per enclosed list.

4. Estimated value of the work put to tender : As per enclosed list.

5. Time of completion for the work : As per enclosed list.

6. Earnest money : As per enclosed list.

7. Security Deposit : The successful tenderers will have to

Keep security deposits as per rule.

3. Printed W. B. Tender Form in which tender : W.B. Form No.2911(ii) incl. up-to date

is to be submitted. Corrigenda & addenda thereof as per

Order of Govt.

9. Price per copy of the specified W.B. Tender : As per enclosed list.

10. Price per copy of the set of other tenderDocuments : As per enclosed list.

11. Last date & time limit of application forms : 02.08.2021 up to 2.00 P.M.

12. Last date &time limit for permission : 04.08.2021 up to 2.00 P.M.

13. Blank tender forms may be obtained : From this office -- West Bengal State

Warehousing Corporation, Khadyashree Bhavan (1st. Floor), 11A, Mirza Ghalib Street,

Kolkata-700087.

(2)

14. Last date &time limit for submission of Tender.

06.08.2021 up to 3.00 P.M. and the Tender will be opened on the same day

at 4.00 P.M.

15. Place where tenders are to be submitted

Office of the Superintending Engineer,

WBSWC.

16. Printed Schedule of Rates applicable for the work.

As per P.W.D (W.B) schedule of rates W.e.f 01.12.2015 with up to date addenda & corrigenda Printed price Schedule may be obtained through

Website: www.pwdwb.in

17. With whom the acceptance of the Tenders vest.

Managing Director, WBSWC.

THE APPLICANTS ARE REQUESTED TO ATTEND THIS OFFICE DURING SUBMISSION OF APPLICATION FOR VERIFICATION OF SIGNATURE.

Tender documents, specific price schedule of items for the works and other relevant particulars may be seen by the intending tenderers in the office of the Executive Engineer, WBSWC, on all working days between 11.00 A.M to 4.00 P.M & through website: www.warehousingwb.com.

Intending tenderers are required to produce <u>valid current I.T (Quoting PAN No.)</u>, <u>Trade Licence</u>, <u>P. Tax Deposit Challan</u>, <u>P. Tax Clearance Certificate & GST registration certificate all in original along with one set of self-attested Xerox copies</u> to the Executive Engineer at the time of application for being entitled to submit tender papers. It may be emphasized that WITHOUT THE ABOVE DOCUMENTS IN ORIGINAL THE APPLICATION MAY BE CANCELLED.

The contractor will have to arrange all tools and plants and construction materials required for the work.

Earnest money in the form of eligible instruments as per rule duly pledged in the shape of Demand Draft in favour of "West Bengal State Warehousing Corporation" payable at Kolkata must be deposited along with the tender. VIII th. Issue of NSC cannot be pledged as Earnest Money as per postal rule.

If the dates fall on holidays or on days of bandh or natural calamity, the dates defer to next working days. Executive Engineer, WBSWC reserves the right to refuse permission any serial or total serial of any applicant without assigning any reason whatsoever and no challenge against such refusal will be entertained.

All tenderers are requested to be present personally during the opening of the tender positively. If considered necessary, instant bid may be conducted immediately after opening of the tender to lower down the rates and in no case his/their absence will stand against holding the same.

In case of inadvertent typographical mistake found in the specific price schedule of rates, the same will be treated to be so corrected as to conform with the prevailing relevant schedule of rates and/or technically sanctioned estimate.

The intending tenderer is required to quote the rate in figures as well as in words in his own handwriting and in same ink as percentage above/below or at par than the relevant price schedule of rates. The intending tenderer is required to sign in English, Bengali or Hindi. Signature of tenderer in all location must be identical.

Conditional tender will not be entertained.

The accepting authority reserves the right to reject any or all the tenders without assigning any reason and he will not be bound to accept either the lowest tender or any of the tenders.

IN CASE OF AFTER GETTING PERMISSION FOR A PARTICULAR NIT/NIQ WHO WILL NOT PARTICIPATE IN THE TENDER WITHOUT ANY VALID GROUND WOULD NOT BE ALLOWED FOR 3 (THREE) SUCCESSIVE NIT/NIQ OF THIS OFFICE.

In terms of Finance Department's order no.853-F dated 01.02.2006, communicated under circular no.599A/4N-28/06 dated 27.09.2006 of the Account Branch, Public Works Department, Government of West Bengal, a cess of 1% of the cost of construction works etc. will be levied from the bills of all the works and the amount so collected will be remitted subsequently to the "West Bengal Building & other construction workers Welfare Board" such levying of cess @1% for the same purpose will be effective from 01.11.2006.

> Superintending Engineer WEST BENGAL STATE WAREHOUSING CORPORATION

> > Dated: 10.02.2021

Memo No. 114/Engg/SWC/2021-22/1(4),

Copy forwarded for information and wide circulation through Notice Board to:

1. The Managing Director, WBSWC.

- 2. The Deputy Secretary(Advertisement), F&S Dept. For information & wide circulation.
- 3. The Chief Engineer, WBSWC.
- 4. The Deputy Director, Food, WBSWC.
- This Office NOTICE BOARD.

Superintending Engineer

WEST BENGAL STATE WAREHOUSING CORPORATION

Annexure of NIT No. 32(2nd Call) of 2020-21 of SE,WBSWC Name of work: Construction of Foundation Civil works for 9mx3m Pit less type Weighbridge at Deganga RIDF godown in the District of North 24 Pgs.

SI. No.	OF WORK	Estimated amount put to tender (Rs)	Earnest money (Rs)	Price of each W.B. Form no. 2911(ii) (Rs)	Price per copy of other document (Rs)	Time of completion	Rate to be quoted in % both in Fig. and words
1	As per BOQ	3,20,853/- (Rupees Three lakh twenty Thousand eight hundred fifty three only)	6,417/- (Rupees Six Thousand four Hundred seventeen only)	5/- Applicable for lowest tenderer	750/- Applicable for lowest tenderer	60 days	

Superintending Engineer

WEST BENGAL STATE WAREHOUSING CORPORATION

Percentage BOQ

Tender Inviting Authority: West Bengal Sate Warehousing Corporation.

Name of Work: Construction of Foundation Civil works for 9mx3m Pit less type Weighbridge at Deganga RIDF godown in the District of North 24 Pgs.

NIT No: 32(2nd. Call) OF 2020-21 OF SUPERINTENDING ENGINEER, WBSWC

SI No.	Description of Items	Unit	Qty	Rate Including GST & CESS	Amount
1	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75 m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete. (a) Depth of excavation not exceeding 1,500 mm.	Cum	28.04	134.92	3,783.04
2	Supplying & laying Polythene sheet (150gm/sqm.) over damp proof course or below flooring or roof terracing or in foundation or in foundation trenches. All floor, Roof & above	Sqm	69.27	27.15	1,880.67
3	Filling in foundation or plinth by fine sand in layers not exceeding 150 mm as directed and consolidating the same by thorough saturation with water, ramming complete including the cost of supply of sand. (payment to be made on measurement of finished quantity) B. Do by Fine sand	Cum	18.69	1489.95	27,851.61
4	Earth work in filling in foundation trenches or plinth with good earth, in layers not exceeding 150 mm. including watering and ramming etc. layer by layer complete. (Payment to be made on the basis of measurement of finished quantity of work). With earth obtained from excavation of foundation	Cum	19.63	87.75	1,722.27
5	Brick soling with picked jhama bricks including preparetion of bed as necessary with joints properly filled in and packed with powdered earth and including necessary cushion of similar material below the soling (and in between layers when more than one layer is used) completes as per direction. Single brick flat soling(thickness 75mm.)	Sqm	46.73	408.36	19,083.83
6	(I) Cement concrete with graded stone ballast (40 mm size excluding shuttering) In ground floor (A) [Pakur Variety] (a) 1:3:6 proportion	Cum	7.01	6081.33	42,629.37
7	Hire and labour charges for shuttering with centering and necessary staging upto 4 m using approved stout props and thick hard wood planks of approved thickness with required bracing for concrete slabs, beams and columns, lintels curved or straight including fitting, fixing and striking out after completion of works (upto roof of ground floor). 25 mm to 30 mm thick wooden shuttering as per decision & direction of Engineer-In-Charge. Ground floor				,
-			33.38	378.95	12,650.71

SI No.	Description of Items	Unit	Qty	Rate Including GST & CESS	Amount
8	Ordinary cement concrete(mix 1:1.5:3) with graded stone chips(20 mm size) excluding shuttering and reinforcement if any if any in ground froor as per relevant Is code.			-	
		Ç.A.	16.72	6661.85	1,11,367.61
9	Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binders etc initial straightening and removal of loose rust (if necessary), cutting to requisite length, hooking and bending to correct shape, placing in proper position and binding with 16 gauge black annealed wire at every intersection, complete as per drawing and direction. (a) For works in foundation and upto roof of ground floor/upto 4 m (i) Tor steel/Mild Steel I. SAIL/ TATA/RINL	MT	1.57	62424.80	98,304.18
10	Removal of rubbish, earth etc. from the working site and disposal of the same beyond the compound, in conformity	Cum	8.41	187.78	1,579.57
				Total	3,20,852.85
	Quoted Rate in Figures				
L	Quoted Rate in Words				

Superintending Engineer
W B. State Warehousing Corporation
11A, Mirza Ghalib Street, Khadya Bhaban
Kolkata - 700 087